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QUESTION 1

Exhibit.

Clusterl::> network interface show
Logical Status Network Current Current Is
Vaarver Interface Admin/Oper Address/Mask Node Port Homs

Cluaterl Nodel Clual

up/up 169.254.170.170/16¢ Clusterl Nodel Clual
ala falas
Clusterl Nodel Clus2
up/ up 169.254.69.110/1€ Clusterl Nodel Clus2
alb false
Clusterl Nodel Clusl
up/ up 169.254.64.159/16 Clusterl Node2 Clusl
ela falas
Clusterl Nodel Clus2
up/up 169.254.238.93/16 Clusterl Node2 Clus2
alb false

After an ONTAP upgrade, you notice that several cluster LIFs are not on their home ports as shown in the exhibit.
Which LIF option would change this outcome?

A. the subnet-name option
B. the failover-policy option
C. the auto-revert option
D. the data-protocol option
Correct Answer: C

Explanation: https://docs.netapp.com/us-en/ontap/networking/revert_a_lif to_its_home_port.html

QUESTION 2

After attempting to perform an ONTAP upgrade. It falls during the pre-check. In this scenario, what would cause this
problem?

A. encrypted volumes
B. offline volume
C. Idle SnapMirrors

D. offline data LIF
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Correct Answer: C

QUESTION 3
Exhibit

wval -1if datalifl -role data ~homs-node nodel -home-port elc —address 192.0.2.130 -netmask

in-wide —firewall-pslicy data

After creating a new LIF called datalifl on SVM vsO0, you notice connectivity issues to the newly created LIF, as shown
In the exhibit. You have verified that the new LIF Is online and the network team is able to see the MAC address on the
switches.

Referring to the exhibit, what would cause connectivity Issues?

A. The home port needs to be modified to port eOd.

B. The route metric needs to be modified to a metric of 30.

C. The route needs to be modified to reflect the correct gateway.

D. The netmask needs to be modified to a /16 network.

Correct Answer: C

QUESTION 4

You ate attempting to establish a SnapMlrror relationship between your ONTAP cluster (AcmeClusOl) and a partner
company\\'s ONTAP cluster (WidgetsClusOl). The clusters are unable to establish a peering relationship. You perform a
packet capture on WldgetsClusOl and do not see any packets from AcmeClusOl. You also discover that the IP subnet
that Is used for WidgetsClusOI\\'s intercluster LIFs overlaps with a local subnet at your company.

In this scenario, which feature would enable AcmeClusOIl and WidgetsClusOl to peer with each other?

A. VLANs

B. broadcast domains

C. IPspaces

D. ONTAP subnets

Correct Answer: C

https://kb.netapp.com/Advice_and_Troubleshooting/Data_Protection_and_Security/SnapMi
rror/How_to_create_and_configure_Cluster_Peering_with_designated_InterCluster_LIFs_u sing_IPSpaces
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QUESTION 5

You are performing an ONTAP upgrade with an intercluster data protection SnapMirror relationship in this scenario,
which two steps must be performed before an NDU? (Choose two.)

A. SnapMirror operations must be suspended.

B. The destination cluster must be upgraded first.
C. The source cluster must be upgraded first.

D. SnapMirror operations must be broken.

Correct Answer: AB
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